MATH 132H FALL 2012 FINAL EXAM

Your Name: /b I{;L 5 Q Qu 9/? r5/),\/

This is a two hours exam. This exam paper consists of 7 questions. It has 9 pages.
On this exam, you may use a calculator and one letter size page of notes, but no books.

It is not sufficient to just write the answers. You must ezplain how you arrive at your
answers.

1. (14)
2. (14)
3. (14)
4. (14)
5. (14)
6. (18)
7. (18)

TOTAL (106)
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1. (14 points) Find the interval of convergence of the power.series » _fo_)__

Justify your answer (do not forget to justify the convergence or divergence at
the endpoints).
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2. (14 points) a) Find the Maclaurin series for f(z) = 112 Justify your answer!
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b) Use your answer in part (a) in order to find the Macluarin series of tan™ Y(z).
Prove your answer
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3. (14 points) Use Taylor’s Inequality and the Maclaurin series e* = Z% in order
n=0
to find the minimal n, such that the n-th Taylor polynomial T,,(z) approximates
e* with an error < 107° in the interval —1 <z < 1.
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4. ‘(14 points) Determine whether each of the following series is convergent, condi-
tionally convergent, or divergent. Explain which test you used and why all the

? conditions of the test are satisfied.
n=1 TL' . J- )
-+ M= )
Rebco Teki (g | 2w = = — o <
M*{'l/ - w-e—q)]. A ; M‘f-l
\ &M} "

SO the Sowtg W0 Cveryod abjopumgy 3 e
Mo M |

Ead -y
/\/\W'M f g
0
with L @/A
/YIB/&’ 3
i Sy D) " D L (@J“?J 4
ﬂlm | G = QUV' 2 - = ==
"0 A nogp M mop L4y b
m3/a ma

® 1) . _

- [?j
for Iy 422 R =,
w0 Tm L)qu /k;?:—ﬁ?v I
@M‘« m")&)

| m IV
il s = i b
e souk > 5, Casn whaed ,

to pSat ph>t

M=
TW 2 |om| cmmgw od D lm (WV\M}M CJ)SOIOV%,



5. (14 points) Compute the following integrals algebraically. Show all your work!

a - 1;&,9.5,-/ - do) B X0
+ ’Y)ﬁ )/1 [Va(vz + 1) (n(vz +1))2 S
) N/ —— w3
w Ly
du= 37z
O‘O :
. 07\ Ot *_ . . [,— ;l
_ —— ~ o
/Q/"(f}\) & ] ~)00 7{‘

I\ *y 1
q— T{\‘S b) fcos(:c)ezzdg; — dé\ CUN(X) g _t_ol\
w v

A AW

ETUTE

—_—

‘t':Q,w{Ul)
. el {1 du

X -
Zé\%cx)ﬁ —*ij,&v()(){;’ _ 17 T
nw— T
5 T = 4 vo(x) @ax~k j[J Smlx)e )(fc;
Vs A
— 7K [
‘ - ™ 1 sulx)e +
1 = 2w Tk ﬂ




é Y _K 6. (18 points) Consider the curve given by the parametric equations z = e~* cos(t),
: y=etsin(t), 0 <t < 2m.
a) Find all the point where the tangent line to the curve is horizontal and all
the point where the tangent line is vertical. Show all your algebraic steps.
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b) Sketch the graph of the portion of the curve for 0 < ¢ < 7. Indicate the
polar coordinates of the points of intercept with the z and y axis, the scale, and
the horizontal and vertical tangent lines and the polar coordinates of the points
with these tangent lines. (The portion of the curvein the interval m# < ¢t < 27

will be too small to draw).
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¢) Find the length of the curve in part (a).
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7. (18 points) a) Find the cartesian equation of the polar curve r = 5sin(6).
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b) Sketch the region that lies inside the polar curve r = 5sin(@), from part (a),

and outside the polar curve r = 2 + sin(#). Provide polar coordinates for all
points of intersection.
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